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NORDIC JERSEY

Baby Merino (167m- 50 gr), 2,5y 3 mm needles.
Cast-on 70 sts. with 2,5 mm. Needles. And we do 6 rows in rib 2/2
Change to needles 3 mm and knit from there

6 in garter sts- the CHART- 6 garter sts. (Each 4 ridges we make a short
row with garter stitch borders)

Make a bottonhole in the 12 row: k1- k2tog- yo- k3 (bottonhole between
11 rows)

We knitting to row 33 and we continue smooth stitches with the base
color until we have 12 6 13 cm.

WE HAVE 200 STITCHES

We separated the sleeves, always doing the borders in garter stitches and
bottonhole: we knit 31 sts (included 6 of the border), we place on a thread
or aux. needle 40 sts (sleeve), cast-on 6 new sts, and we knitting 58 for
back side, we put 40 sts in aux needle or thread (other sleeve), cast-on 6
for armhole and we knitting 31 for the front.

We continue with these sts 11 cm. We make the small drawing of the
chart, and then we change to 2,5 cm needles and we do rib 2/2 for 2 cm.

Place the stitches from the thread back on needle
THE PIECE IS NOW MEASURED FROM HERE! Cast on 3 stitches at the
each side

Continue with stockinette stitch until the sleeve measures 13 cm and
change to 2,5 mm needle and work rib 2/2 for 2 cm more. Bind off. Work
the other sleeve in the same way



CONTINUE KNIT STOCKINETTE STS IN GREY UNTIL HAVE 12 CM

GREY: increase 12 (each 14 sts) total 200
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ORANGE: PURL

GREY :INCREASE 50 (188) K3- "INCR-K2-INCR"....... INCR.-K3

GREY: PURL
KNIT BLUE
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GREY :INCREASE 40 (138) "K2- INCREASE".......INCREA.-2 (4 TIMES: K3-INCR)
GREY: PURL
KNIT ORANGE
GREY: PURL
KNIT GREY
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Knit RED
GREY: PURL

GREY :INCREASE 28 (98) "2- INCREASE"....... INCREASE-2

Cast on 70 sts in 2,5 mm, make rib 2/2 6 rows and change to 3 mm needles
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